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Time: 1Hour] [Max. Marks: 30
I nstructions to the Candidates:
1) SolvelQl or ‘@2 and solve Q3 or Q4.
2) Neat/diagram must drawn wherever necessary.
3) Figures{o the right indicates full marks. o
4) Asslime Suitable data, if necessary. ¢
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Q1) a) V'Derive expression for path dlfferrer)lce imreflected system for thin film
of uniform thickness and obtain.,cond,iqtion for maxima and minima.

% [6]

b) The resultant amplitude of Wwave Qv}ien monochromatic light is diffracted
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starting from this obtain the
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from a single slit is ,Eg' :ﬁ]?
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condition of principal mc:clf;(fma and minima. [§)]

c) How should the polarizgr and analyzer be oriented so that intensiiy of
transmitted light hagomes to 1) 0.50 11) 0.25 times the maximum
intensity? > [4]
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02) a) What isvdeuble refraction? Explain Huygen’s theory of double
refraction. [6]

b):~ Explain the use of thin film as AntireflectionrCoatinig along with equation
of thickness of coating. [5]

¢). In a plane transmission grating, the angle.of“diffraction for the second
order principal maximum for wavelength s x 10~ cm is 30°. Calculate
the number of lines / cm of the grating-surface. [4]
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Explain with neat labelled diagramiconstruction and working of a carbon
dioxide laser. & [6]

What is optic fibre? Give thedifference between step Index and Grade

Index optic fibre f(’oyy 2&~ 1

Calculate t@@ner'}%ﬂ’ aperture and acceptance angle Ptical

fibre havin = J{;ﬂ) and n, = 1.44. [4]
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Exp @he@%’cess of fiber optics communicati em with neat
bl@ 1a%%%n. State any two advantages of fiber optic§communication.
$o)
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Wh%{/\@'Holography? Explain the proces %ram recording. [5]
ribe the terms in laser : [4]
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